.\&)' @nm)l.f Qp}TMG«gU -9 meﬁ)&w

838A

[

o Ry

B 02 o R

A L P L A P A A

&

<
| > 838

’..‘.'

AR VYARARS

’V‘ oy o 20! CSlee 39 73! UKL HT0

aVv'd (o) gne pla!

R e T
298 3 Slida pgle Oyl
S el i plejle

(

(YYY) 05 = (6559L8S (ygaml juilSo i )

L AL 17D 1 o of Rl Soe

L VAB : i Slins

OV 5 5le g olaws | Jloial Slge ylgie

i U | oyl 51 | e olows el dlge TR
. | Y. (guadSSN) gt g gogas b3 | )
a0 id Ya Sialas glasuile | ¥
A a8 Ya $38LS yaamluills | ¥
Yoo A Y. OYleiol g sl | F
\Y. Ve Y. st sy | B
\F- ia Y. ol | #
7o 'F ra WSl gy | Y
1A8 \PF Y. Siyglas Olivlesi ok | A

NOWWWE I E VR PRE LN PRI

218 e 550 9031 (!

Bygn 3 A e gl il b g i gn loe e sl 1 39000 L gl gl 3 A el el 3 409 3T 51 2 3 0 (ront Rty 5 ST) 5 8 0 T S g 5 i

0 R 0 oA B

AN

AN

VAN | R0 B o R

&

2

&

2




¥ axio 838A OFYY) U5 = (5550005 (3 gaan] juilSin  guwidig

el (9031 dds 10 Lol jgua> pus & s (b3 Jeuo Ol jode 1o Las! g Glakie 730 pos (ool )5 Llbgls

Blad ci0earkinSs o JalS AT U cocasicisimmisrnins el B tedl b o il
B &,.v .QY‘P :Ip').dé ! Mb&m‘.‘ dyb .A..J’. 4 09,9 Q)U 6YL3 » C).L}.n u.,.l.b,!o B)ln-:a b |) é,$ u.l..\.\.o
otledge a1 plaalienly el 9 ¥l i 335 (g5 1 0 299 J S oS

: (gadDl) (g g o908 HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--—--—-- -- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --------—--- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~——--—------- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --—---eemeev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---------- -
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -~ to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

----, he continued to assert that he was innocent and had

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the -—-------- -- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is to0 --——-—-—-- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ----- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

Part C- Reading Comprehension
Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4)-

Then mark it on your answer sheet-

PASSAGE 1

The Fertile Crescent (FC) is a crescent-shaped region where agriculture and early
human civilizations like the Sumer and Ancient Egypt flourished due to jnundations
from the surrounding Nile, Euphrates, and Tigris rivers- As crucial as rivers
and marshlands were to the rise of civilization in the Fertile Crescent. they were not
the only factor- The area is geographically important as the "bridge"
between Africa and Eurasia. which has allowed it to retain a greater amount
of biodiversity than either Europe or North Africa. where climate changes during
the Ice Age led to repeated extinction events when ecosystems became squeezed
against the waters of the Mediterranean Sea- The area has borne the brunt of
the tectonic divergence between the African and Arabian plates and the converging
Arabian and Eurasian plates, which has made the region a very diverse zone of high
snow-covered mountains- The Fertile Crescent had many diverse climates, and major
climatic changes encouraged the evolution of many "r" type annual plants, which
produce more edible seeds than "K" type perennial plants- The region's dramatic
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variety in elevation gave rise to many species of edible plants for early experiments in
cultivation- Most importantly. the Fertile Crescent was home to the eight Neolithic
founder crops important in early agriculture (i.e..wild progenitors to emmer
wheat. einkorn, barley, flax. chick pea, pea, lentil, bitter vetch). and four of the five
most important species of domesticated animals—cows, goats, sheep, and pigs: the
fifth species, the horse, lived nearby- The Fertile Crescent flora comprises a high
percentage of plants that can self-pollinate, but may also be cross-pollinated- These
plants, called "selfers", were one of the geographical advantages of the area because
they did not depend on other plants for reproduction.

We may understand from the passage that ----eeeeeeeeee- -
1) FC is not the original *home’ of the horse

2) Mediterranean Sea was born in the Ice Age

3) tectonic divergences do not occur in Africa

4) emmer wheat is an important variety of barley

The passage points to the fact that ——--—eeeeeeeeeee,

1) there was little climate change during the Ice Age

2) FC’s elevation makes it suitable for early cultivation
3) bitter vetch is one of the eight Neolithic founder crops
4) some Eurasian plates have snow-covered mountains
It is stated in the passage that -—-—--—emeevee-,

1) marshlands were not crucial to the development of FC
2) African and Arabian plates converge in East Africa

3) "r" type annual plants have three types of edible seed
4) "selfers" can self-pollinate and be cross-pollinated
The passage mentions that ---—-—eeeeeee,

1) all FC flora would originally self-pollinate

2) Europe is less varied in biodiversity than FC

3) "K" type perennial plants are logging plants

4) FC contains all of the Neolithic founder crops

The word ‘inundation’ in the passage (underlined) is basically related to the word -—--—-,
1) *soil’ 2) “plant’ 3) “water’ 4) *farming’
PASSAGE 2

Shifting cultivation is an agricultural system in which plots of land are cultivated
temporarily, then abandoned and allowed to revert to their natural vegetation while the
cultivator moves on to another plot- The period of cultivation is usually terminated
when the soil shows signs of exhaustion or, more commonly, when the field is overrun
by weeds- The length of time that a field is cultivated is usually shorter than the
period over which the land is allowed to regenerate by lying fallow- This technique is
often used in LEDCs (Less Economically Developed Countries) or LICs (Low Income
Countries)- In some areas. cultivators use a practice of slash-and-burn as one element
of their farming cycle- Others employ land clearing without any burning, and some
cultivators are purely migratory and do not use any cyclical method on a given plot-
Sometimes no slashing at all is needed where regrowth is purely of grasses. an
outcome not uncommon when soils are near exhaustion and need to lie fallow- In
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shifting agriculture, after two or three years of producing vegetable and grain crops on
cleared land. the migrants abandon it for another plot- Land is often cleared by slash-
and-burn methods—trees, bushes and forests are cleared by slashing. and the
remaining vegetation is burnt- The ashes add potash to the soil- Then the seeds are
sown after the rains- Shifting cultivation was assessed by the FAO to be one of the
causes of deforestation while logging was not- The apparent discrimination against
shifting cultivators caused a confrontation between FAO and environmental groups.
who saw the FAO supporting commercial logging interests against the rights of
indigenous people.

It is stated in the passage that shifting cultivation --—--eeeeeeeeee-,

1) helps LEDCs to give assistance to some LICs

2) clears forests of any form of useless vegetation

3) adds potash to soil if the seeds are properly sown

4) is more effective in deforestation than logging

The passage points to the fact that in shifting cultivation -—--—-eeeeeeeen 2
1) weeds can show the end of the cultivation period

2) there is much more cultivation than regeneration

3) land must revert to its natural state after two years

4) migrants stay on the same plot until it goes all dry

According to the passage, near exhaustion soils -———-----memeeee,

1) are made poorer through slash-and-burn

2) need to lie fallow almost every other year

3) may often produce only grasses as regrowth

4) should only be cleared through slash-and-burn

We may understand from the passage that shifting cultivation is ------—-—eenen- :
1) against the rights of indigenous people

2) not common in economically developed countries

3) assessed to be necessary for LEDCs by the FAO

4) not suitable for purely migratory cultivators

The word ‘confrontation’ in the passage (underlined) is closest to -—--—-----=--—- -
1) “argue’ 2) *attach’

3) “install’ 4) *instruct’

PASSAGE 3

A tree chipper or wood-chipper is a machine used for reducing wood (generally tree
limbs or trunks) into smaller woodchips- They are ofien portable, being mounted on
wheels on frames suitable for towing behind a truck or van- Power is generally
provided by an internal combustion engine from 3 hp to 1,000 hp- There are also high
power chipper models mounted on trucks and powered by a separate engine- These
models usually also have a hydraulic crane- Tree chippers are typically made of a
hopper with a collar, the chipper mechanism itself, and an optional collection bin for
the chips- A tree limb is inserted into the hopper (the collar serving as a partial safety
mechanism to keep human body parts away from the chipping blades) and started into
the chipping mechanism- The chips exit through a chute and can be directed into a
truck-mounted container or onto the ground- Typical output is chips on the order of 2-
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5cm to 5- 1 cm across in size- The resulting wood chips have various uses such as
being spread as a ground cover or being fed into a digester during papermaking- Most
chippers rely on energy stored in a heavy flywheel to do their work (although some
use drums)- The chipping blades are mounted on the face of the flywheel. and the
flywheel is accelerated by an electric motor or internal combustion engine- Large
wood-chippers are frequently equipped with grooved rollers in the throat of their feed
funnels- Once a branch has been gripped by the rollers, the rollers transport the branch
to the chipping blades at a steady rate- These rollers are a safety feature and are
generally reversible for situations where a branch gets caught on clothing-

It is stated in the passage that the tree chipper’s collar ---
1) pulls tree limbs into a hopper

2) is to keep the operator safe

3) is to direct the chips into a chute

4) places it on a truck-mounted plate

According to the passage, in large wood-chippers -—----eeeev -
1) drums do the job of a heavy flywheel

2) produce chips of about 15 ¢m long

3) the chipper runs on 1000 hp

4) rollers do not change their speed

The passage points to the fact that -——--—-meeeeeeev,

1) papermaking digesters take only large chips

2) rollers transport the branch to a large gripper

3) chippers must have a collection bin for chips

4) truck-mounted chippers have a hydraulic crane

The passage mentions that ---—-—eeeeeeme,

1) electric motors can run a chipper’s flywheel

2) portable chippers have small towing frames

3) chipper-vans include up to three containers

4) flywheels have two mounted chipping blades

The word ‘groove’ in the passage (underlined) refers to a oo hollow space cut
--------- a surface.
1) wide deep / into 2) long narrow / into
3) long narrow / on top of 4) wide deep / on top of
il slagdle
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